IRS Small Business Health Care Tax Credit: Frequently Asked Questions

The new health reform law gives a tax credit to certain small employers that provide health care
coverage to their employees, effective with tax years beginning in 2010. The following questions and
answers provide information on the credit as it applies for 2010-2013, including information on
transition relief for 2010. An enhanced version of the credit will be effective beginning in 2014. The new
law, the Patient Protection and Affordable Care Act, was passed by Congress and was signed by
President Obama on March 23, 2010.

Employers Eligible for the Credit
1. Which employers are eligible for the small employer health care tax credit?

A. Small employers that provide health care coverage to their employees and that meet certain
requirements (“qualified employers”) generally are eligible for a Federal income tax credit for health
insurance premiums they pay for certain employees. In order to be a qualified employer, (1) the
employer must have fewer than 25 full-time equivalent employees (“FTEs") for the tax year, (2) the
average annual wages of its employees for the year must be less than $50,000 per FTE, and (3) the
employer must pay the premiums under a “qualifying arrangement” described in Q/A-3. See Q/A-9
through 15 for further information on calculating FTEs and average annual wages and see Q/A-22 for
information on anticipated transition relief for tax years beginning in 2010 with respect to the
requirements for a qualifying arrangement.

2. Can atax-exempt organization be a qualified employer?

A. Yes. The same definition of qualified employer applies to an organization described in Code
section 501(c) that is exempt from tax under Code section 501(a). However, special rules apply in
calculating the credit for a tax-exempt qualified employer. See Q/A-6.

Calculation of the Credit
3. What expenses are counted in calculating the credit?

A. Only premiums paid by the employer under an arrangement meeting certain requirements (a
“qualifying arrangement”) are counted in calculating the credit. Under a qualifying arrangement, the
employer pays premiums for each employee enrolled in health care coverage offered by the employer
in an amount equal to a uniform percentage (not less than 50 percent) of the premium cost of the
coverage. See Q/A-22 for information on transition relief for tax years beginning in 2010 with respect to
the requirements for a qualifying arrangement.

If an employer pays only a portion of the premiums for the coverage provided to employees under the
arrangement (with employees paying the rest), the amount of premiums counted in calculating the
credit is only the portion paid by the employer. For example, if an employer pays 80 percent of the

premiums for employees’ coverage (with employees paying the other 20 percent), the 80 percent
premium amount paid by the employer counts in calculating the credit. For purposes of the credit

(including the 50-percent requirement), any premium paid pursuant to a salary reduction arrangement

under a section 125 cafeteria plan is not treated as paid by the employer.

In addition, the amount of an employer’s premium payments that counts for purposes of the credit is
capped by the premium payments the employer would have made under the same arrangement if the
average premium for the small group market in the State (or an area within the State) in which the
employer offers coverage were substituted for the actual premium. If the employer pays only a portion
of the premium for the coverage provided to employees (for example, under the terms of the plan the
employer pays 80 percent of the premiums and the employees pay the other 20 percent), the premium
amount that counts for purposes of the credit is the same portion (80 percent in the example) of the
premiums that would have been paid for the coverage if the average premium for the small group
market in the State were substituted for the actual premium.

4. What is the average premium for the small group market in a State (or an area within the
State)?

A. The average premium for the small group market in a State (or an area within the State) will be
determined by the Department of Health and Human Services (HHS) and published by the IRS.
Publication of the average premium for the small group market on a State-by-State basis is expected to
be posted on the IRS website by the end of April.



5. What is the maximum credit for a qualified employer (other than a tax-exempt employer)?

A. For tax years beginning in 2010 through 2013, the maximum credit is 35 percent of the employer’s
premium expenses that count towards the credit, as described in Q/A-3.

Example. For the 2010 tax year, a qualified employer has 9 FTEs with average annual wages of
$23,000 per FTE. The employer pays $72,000 in health care premiums for those employees (which
does not exceed the average premium for the small group market in the employer's State) and
otherwise meets the requirements for the credit. The credit for 2010 equals $25,200 (35% x $72,000).

6. What is the maximum credit for a tax-exempt qualified employer?

A. For tax years beginning in 2010 through 2013, the maximum credit for a tax-exempt qualified
employer is 25 percent of the employer’s premium expenses that count towards the credit, as
described in Q/A-3. However, the amount of the credit cannot exceed the total amount of income and
Medicare (i.e., Hospital Insurance) tax the employer is required to withhold from employees’ wages for
the year and the employer share of Medicare tax on employees’ wages.

Example. For the 2010 tax year, a qualified tax-exempt employer has 10 FTEs with average annual
wages of $21,000 per FTE. The employer pays $80,000 in health care premiums for those employees
(which does not exceed the average premium for the small group market in the employer's State) and

otherwise meets the requirements for the credit. The total amount of the employer’s income tax and

Medicare tax withholding plus the employer’s share of the Medicare tax equals $30,000 in 2010.

The credit is calculated as follows:

(1) Initial amount of credit determined before any reduction: (25% x $80,000) = $20,000
(2) Employer’s withholding and Medicare taxes: $30,000
(3) Total 2010 tax credit is $20,000 (the lesser of $20,000 and $30,000).

7. How is the credit reduced if the number of FTEs exceeds 10 or average annual wages exceed
$25,000?

A. If the number of FTEs exceeds 10 or if average annual wages exceed $25,000, the amount of the
credit is reduced as follows (but not below zero). If the number of FTEs exceeds 10, the reduction is
determined by multiplying the otherwise applicable credit amount by a fraction, the numerator of which
is the number of FTEs in excess of 10 and the denominator of which is 15. If average annual wages
exceed $25,000, the reduction is determined by multiplying the otherwise applicable credit amount by a
fraction, the numerator of which is the amount by which average annual wages exceed $25,000 and
the denominator of which is $25,000. In both cases, the result of the calculation is subtracted from the
otherwise applicable credit to determine the credit to which the employer is entitled. For an employer
with both more than 10 FTEs and average annual wages exceeding $25,000, the reduction is the sum
of the amount of the two reductions. This sum may reduce the credit to zero for some employers with
fewer than 25 FTEs and average annual wages of less than $50,000.

Example. For the 2010 tax year, a qualified employer has 12 FTEs and average annual wages of
$30,000. The employer pays $96,000 in health care premiums for those employees (which does not
exceed the average premium for the small group market in the employer's State) and otherwise meets
the requirements for the credit.

The credit is calculated as follows:

(2) Initial amount of credit determined before any reduction: (35% x $96,000) = $33,600
(2) Credit reduction for FTEs in excess of 10: ($33,600 x 2/15) = $4,480
(3) Credit reduction for average annual wages in excess of $25,000: ($33,600 x $5,000/$25,000) =
$6,720
(4) Total credit reduction: ($4,480 + $6,720) = $11,200
(5) Total 2010 tax credit: ($33,600 — $11,200) = $22,400.

8. Can premiums paid by the employer in 2010, but before the new health reform legislation was
enacted, be counted in calculating the credit?

A. Yes. In computing the credit for a tax year beginning in 2010, employers may count all premiums
described in Q/A-3 for that tax year.



Determining FTEs and Average Annual Wages
9. How is the number of FTEs determined for purposes of the credit?

A. The number of an employer’s FTEs is determined by dividing (1) the total hours for which the
employer pays wages to employees during the year (but not more than 2,080 hours for any employee)
by (2) 2,080. The result, if not a whole number, is then rounded to the next lowest whole number. See

Q/A-12 through 14 for information on which employees are not counted for purposes of determining
FTEs.

Example. For the 2010 tax year, an employer pays 5 employees wages for 2,080 hours each, 3
employees wages for 1,040 hours each, and 1 employee wages for 2,300 hours.

The employer’s FTEs would be calculated as follows:
(1) Total hours not exceeding 2,080 per employee is the sum of:

a. 10,400 hours for the 5 employees paid for 2,080 hours each (5 x 2,080)
b. 3,120 hours for the 3 employees paid for 1,040 hours each (3 x 1,040)
c. 2,080 hours for the 1 employee paid for 2,300 hours (lesser of 2,300 and 2,080)

These add up to 15,600 hours

(2) FTEs: 7 (15,600 divided by 2,080 = 7.5, rounded to the next lowest whole number)

10. How is the amount of average annual wages determined?

A. The amount of average annual wages is determined by first dividing (1) the total wages paid by the
employer to employees during the employer’s tax year by (2) the number of the employer’'s FTEs for
the year. The result is then rounded down to the nearest $1,000 (if not otherwise a multiple of $1,000).
For this purpose, wages means wages as defined for FICA purposes (without regard to the wage base
limitation). See Q/A-12 through 14 for information on which employees are not counted as employees
for purposes of determining the amount of average annual wages.

Example. For the 2010 tax year, an employer pays $224,000 in wages and has 10 FTEs.

The employer’s average annual wages would be: $22,000 ($224,000 divided by 10 = $22,400, rounded
down to the nearest $1,000)

11. Can an employer with 25 or more employees qualify for the credit if some of its employees
are part-time?

A. Yes. Because the limitation on the number of employees is based on FTEs, an employer with 25 or
more employees could qualify for the credit if some of its employees work part-time. For example, an
employer with 46 half-time employees (meaning they are paid wages for 1,040 hours) has 23 FTEs and
therefore may qualify for the credit.

12. Are seasonal workers counted in determining the number of FTEs and the amount of
average annual wages?

A. Generally, no. Seasonal workers are disregarded in determining FTEs and average annual wages
unless the seasonal worker works for the employer on more than 120 days during the tax year.

13. If an owner of a business also provides services to it, does the owner count as an
employee?

A. Generally, no. A sole proprietor, a partner in a partnership, a shareholder owning more than two
percent of an S corporation, and any owner of more than five percent of other businesses are not
considered employees for purposes of the credit. Thus, the wages or hours of these business owners
and partners are not counted in determining either the number of FTEs or the amount of average
annual wages, and premiums paid on their behalf are not counted in determining the amount of the
credit.

14. Do family members of a business owner who work for the business count as employees?



A. Generally, no. A family member of any of the business owners or partners listed in Q/A-13, or a
member of such a business owner’s or partner’s household, is not considered an employee for
purposes of the credit. Thus, neither their wages nor their hours are counted in determining the

number of FTEs or the amount of average annual wages, and premiums paid on their behalf are not

counted in determining the amount of the credit. For this purpose, a family member is defined as a

child (or descendant of a child); a sibling or step-sibling; a parent (or ancestor of a parent); a step-
parent; a niece or nephew; an aunt or uncle; or a son-in-law, daughter- in-law, father-in-law, mother-in-
law, brother-in-law or sister-in-law.

15. How is eligibility for the credit determined if the employer is a member of a controlled group
or an affiliated service group?

A. Members of a controlled group (e.g., businesses with the same owners) or an affiliated service
group (e.g., related businesses of which one performs services for the other) are treated as a single
employer for purposes of the credit. Thus, for example, all employees of the controlled group or
affiliated service group, and all wages paid to employees by the controlled group or affiliated service
group, are counted in determining whether any member of the controlled group or affiliated service
group is a qualified employer. Rules for determining whether an employer is a member of a controlled
group or an affiliated service group are provided under Code section 414(b), (c), (m), and (0).

How to Claim the Credit
16. How does an employer claim the credit?

A. The credit is claimed on the employer’s annual income tax return. For a tax-exempt employer, the
IRS will provide further information on how to claim the credit.

17. Can an employer (other than a tax-exempt employer) claim the credit if it has no taxable
income for the year?

A. Generally, no. Except in the case of a tax-exempt employer, the credit for a year offsets only an
employer’s actual income tax liability (or alternative minimum tax liability) for the year. However, as a
general business credit, an unused credit amount can generally be carried back one year and carried

forward 20 years. Because an unused credit amount cannot be carried back to a year before the
effective date of the credit, though, an unused credit amount for 2010 can only be carried forward.

18. Can atax-exempt employer claim the credit if it has no taxable income for the year?

A. Yes. For a tax-exempt employer, the credit is a refundable credit, so that even if the employer has
no taxable income, the employer may receive a refund (so long as it does not exceed the income tax
withholding and Medicare tax liability, as discussed in Q/A-6).

19. Can the credit be reflected in determining estimated tax payments for a year?

A. Yes. The credit can be reflected in determining estimated tax payments for the year to which the
credit applies in accordance with regular estimated tax rules.

20. Does taking the credit affect an employer’s deduction for health insurance premiums?

A. Yes. In determining the employer’s deduction for health insurance premiums, the amount of
premiums that can be deducted is reduced by the amount of the credit.

21. May an employer reduce employment tax payments (i.e., withheld income tax, social
security tax, and Medicare tax) during the year in anticipation of the credit?

A. No. The credit applies against income tax, not employment taxes.
Anticipated Transition Relief for Tax Years Beginning in 2010

22. Is it expected that any transition relief will be provided for tax years beginning in 2010 to
make it easier for taxpayers to meet the requirements for a qualifying arrangement?



A. Yes. The IRS and Treasury intend to issue guidance that will provide that, for tax years beginning
in 2010, the following transition relief applies with respect to the requirements for a qualifying
arrangement described in Q/A-3:

(a) An employer that pays at least 50% of the premium for each employee enrolled in coverage offered
to employees by the employer will not fail to maintain a qualifying arrangement merely because the
employer does not pay a uniform percentage of the premium for each such employee. Accordingly, if
the employer otherwise satisfies the requirements for the credit described above, it will qualify for the
credit even though the percentage of the premium it pays is not uniform for all such employees.

(b) The requirement that the employer pay at least 50% of the premium for an employee applies to the

premium for single (employee-only) coverage for the employee. Therefore, if the employee is receiving
single coverage, the employer satisfies the 50% requirement with respect to the employee if it pays at

least 50% of the premium for that coverage. If the employee is receiving coverage that is more

expensive than single coverage (such as family or self-plus-one coverage), the employer satisfies the

50% requirement with respect to the employee if the employer pays an amount of the premium for such
coverage that is no less than 50% of the premium for single coverage for that employee (even if it is

less than 50% of the premium for the coverage the employee is actually receiving).

Page Last Reviewed or Updated: March 31, 2010






	IRS Small Business Health Care Tax Credit: Frequently Asked Questions
	Employers Eligible for the Credit
	Calculation of the Credit
	Determining FTEs and Average Annual Wages
	How to Claim the Credit
	Anticipated Transition Relief for Tax Years Beginning in 2010


